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Bio 21 Ch.12 Pedigree Problems

Answer the yes/no questions concerning each of the four pedigrees.  All shaded individuals are affected.
1. Pedigree A:
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a. Could this trait be inherited as a simple autosomal recessive? 
YES 
NO 

b. Could this trait be inherited as a simple autosomal dominant? 
YES
NO 

c. Could this trait be inherited as a simple X-linked recessive? 
YES 
NO 

2. Pedigree B:
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a. Could this trait be inherited as a simple autosomal recessive? 
YES 
NO
b. Could this trait be inherited as a simple autosomal dominant?
YES 
NO
c. Could this trait be inherited as a simple X-linked recessive?
YES 
NO 
3. Pedigree C
[image: image3.wmf]
a. Could this trait be inherited as a simple autosomal recessive? 
YES 
NO

b. Could this trait be inherited as a simple autosomal dominant? 
YES 
NO

c. Could this trait be inherited as a simple X-linked recessive? 
YES 
NO

d. Could this trait be inherited as a simple X-linked dominant? 
YES 
NO

4. Pedigree D:
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a. Could this trait be inherited as a simple autosomal recessive? 
YES 
NO

b. Could this trait be inherited as a simple autosomal dominant? 
YES 
NO

c. Could this trait be inherited as a simple X-linked recessive? 
YES 
NO

d. Could this trait be inherited as a simple X-linked dominant?
YES 
NO
5. You are a genetic counselor.  A man with purple ears walks in. You questioned the man and wrote down the following family history.  The man's mother and one of his sisters also had purple ears, but his father, his brother, and two other sisters had normal ears. The man and his normal-eared wife had seven children, including four boys and three girls. Two girls and two boys had purple ears.

On a separate sheet, draw the family pedigree and indicate what form of inheritance that the purple-ear trait most likely follows.  
